
COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED                     FIXING MATERIAL ARCOSYSTEM®                     PAGE 1                     JULY 2022

CASTIONI
KABELFÜHRUNGSSYSTEME

CASTIONI
KABELFÜHRUNGSSYSTEME

ARCOSYSTEM® GRÖSSE 1+2 – FIXING MATERIAL



COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED                     FIXING MATERIAL ARCOSYSTEM®                     PAGE 2                     JULY 2022

CASTIONI
KABELFÜHRUNGSSYSTEME

Composite Parts

ARCOSYSTEM® Size 1+2

End Cap ARCOSYSTEM® Size 1
Item No. VT11-P002-C025

End Cap ARCOSYSTEM® Size 2
Item No. VT12-P002-C026

ARCOSYSTEM® Size 1+2

GRP-Connector 
ARCOSYSTEM® Size 2 to Size 1
Item No. VT12-P002-1120

ARCOSYSTEM® Size 1

GRP Trough and Lid 
ARCOSYSTEM® Size 1
Internal Dimension 100 x 160 mm 
Item No. VT111006000PGK - Trough and Lid
Item No. VT111006000PGT - Trough
Item No. VT111006000PGD - Lid

ARCOSYSTEM® Size 2

GRP Trough and Lid
ARCOSYSTEM® Size 2
Internal Dimension 250 x 160 mm 
Item No. VT122506000PGK - Trough and Lid
Item No. VT122506000PGT- Trough
Item No. VT122506000PGD - Lid



COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED                     FIXING MATERIAL ARCOSYSTEM®                     PAGE 3                     JULY 2022

CASTIONI
KABELFÜHRUNGSSYSTEME

Elevated Bracketry for Sigma Posts

ARCOSYSTEM® Size 1+2

Straight Connection Plate 
ARCOSYSTEM® Size 1
Item No. VT11-P002-A007

Straight Connection Plate 
ARCOSYSTEM® Size 2
Item No. VT12-P002-A008

ARCOSYSTEM® Size 1+2

VARIABLE

Hinged Swivel Riser 
ARCOSYSTEM® Size 1
Item No. VT11-P002-1050

Hinged Swivel Riser 
ARCOSYSTEM® Size 2
Item No. VT12-P002-1051

ARCOSYSTEM® Size 1+2

Single Plane Swivel 
ARCOSYSTEM® Size 1
Item No. VT11-P002-A005

Single Plane Swivel 
ARCOSYSTEM® Size 2
Item No. VT12-P002-A006



COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED                     FIXING MATERIAL ARCOSYSTEM®                     PAGE 4                     JULY 2022

CASTIONI
KABELFÜHRUNGSSYSTEME

Out-Hanging Systems 180 mm

ARCOSYSTEM® Size 1+2
Single Plane Swivel 
O/H Post Fixing 
ARCOSYSTEM® Size 1 (180 mm)
Item No. VT11-P002-E301

Single Plane Swivel 
O/H Post Fixing 
ARCOSYSTEM® Size 2 (180 mm)
Item No. VT12-P002-Z302

Slim Single Plane Swivel 
O/H Post Fixing 
ARCOSYSTEM® Size 1 (180 mm)
Item No. VT11-P002-E310

ARCOSYSTEM® Size 1+2

VARIABLE

Universal Hinged O/H Post Swivel 
Fixing ARCOSYSTEM® Size 1 (180 mm)
Item No. VT11-P002-E305

Universal Hinged O/H Post Swivel 
Fixing ARCOSYSTEM® Size 2 (180 mm)
Item No. VT12-P002-Z306

Slim Universal Hinged O/H Post Swivel 
Fixing ARCOSYSTEM® Size 1 (180 mm)
Item No. VT11-P002-E311



COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED                     FIXING MATERIAL ARCOSYSTEM®                     PAGE 5                     JULY 2022

CASTIONI
KABELFÜHRUNGSSYSTEME

Wall Fixing Systems 180 mm

ARCOSYSTEM® Size 1+2

Single Plane Swivel Wall Bracket 
ARCOSYSTEM® Size 1 (180)
Item No. VT11-P002-E501

Single Plane Swivel Wall Bracket 
ARCOSYSTEM® Size 2 (180)
Item No. VT12-P002-Z502

Slim Single Plane Swivel Wall Bracket 
ARCOSYSTEM® Size 1 (180)
Item No. VT11-P002-E505

ARCOSYSTEM® Size 1+2

VARIABLE

Universal Hinged Swivel Wall Bracket 
ARCOSYSTEM® Size 1 (180 mm)
Item No. VT11-P002-E506

Universal Hinged Swivel Wall Bracket 
ARCOSYSTEM® Size 2 (180 mm)
Item No. VT12-P002-Z504

Slim Universal Hinged Swivel Wall Bracket 
ARCOSYSTEM® Size 1 (180 mm)
Item No. VT11-P002-E503



COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED                     FIXING MATERIAL ARCOSYSTEM®                     PAGE 6                     JULY 2022

CASTIONI
KABELFÜHRUNGSSYSTEME

Cable Exit

ARCOSYSTEM® Size 1+2

Cable Exit 30° 
ARCOSYSTEM® Size 1 Ø 70 mm
Item No. VT1011-P002-A019

Cable Exit 30° 
ARCOSYSTEM® Size 2 Ø 115 mm
Item No. VT1011-P002-A021

ARCOSYSTEM® Size 1+2

Two-piece Cable Exit 30° 
Ø 70 mm ARCOSYSTEM® Size 1
Item No. VT11-P002-1081

Two-piece Cable Exit 30°
Ø 115 mm ARCOSYSTEM® Size 2
Item No. VT12-P002-1080

ARCOSYSTEM® Size 1+2

ARCOSYSTEM® 

Lateral Cable Exit Ø 115 mm
Item No. VT11-P002-1086

ARCOSYSTEM® 

Lateral Cable Exit Ø 70 mm
Item No. VT11-P002-1085

ARCOSYSTEM® Size 1+2



COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED                     FIXING MATERIAL ARCOSYSTEM®                     PAGE 7                     JULY 2022

CASTIONI
KABELFÜHRUNGSSYSTEME

Transition Pieces

Transition Piece C.1.7 to 
ARCOSYSTEM® Size 1 
Item No. VT11-P002-1099

Transition Piece C.1.7 to 
ARCOSYSTEM® Size 2
Item No. VT12-P002-1104

ARCOSYSTEM® Size 1+2

Transition Piece C.1.8 to 
ARCOSYSTEM® Size 1
Item No. VT11-P002-1102

Transition Piece C.1.8 to 
ARCOSYSTEM® Size 2
Item No. VT12-P002-1105

ARCOSYSTEM® Size 1+2

Transition Piece C.1.9 to 
ARCOSYSTEM® Size 1
Item No. VT11-P002-1103

Transition Piece C.1.9 to 
ARCOSYSTEM® Size 2
Item No. VT12-P002-1106

ARCOSYSTEM® Size 1+2



COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED                     FIXING MATERIAL ARCOSYSTEM®                     PAGE 8                     JULY 2022

CASTIONI
KABELFÜHRUNGSSYSTEME

Transition Pieces

Transition Piece C.1.10 to 
ARCOSYSTEM® Size 1 
Item No. VT11-P002-1097

Transition Piece C.1.10 to 
ARCOSYSTEM® Size 2
Item No. VT12-P002-1095

ARCOSYSTEM® Size 1+2

Transition Piece C.1.29 to 
ARCOSYSTEM® Size 1 
Item No. VT11-P002-1098

Transition Piece C.1.29 to 
ARCOSYSTEM® Size 2
Item No. VT12-P002-1096

ARCOSYSTEM® Size 1+2

Transition Piece C.1.43 to 
ARCOSYSTEM® Size 1 
Item No. VT11-P002-1101

Transition Piece C.1.43 to 
ARCOSYSTEM® Size 2
Item No. VT12-P002-1100

ARCOSYSTEM® Size 1+2



COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED                     FIXING MATERIAL ARCOSYSTEM®                     PAGE 9                     JULY 2022

CASTIONI
KABELFÜHRUNGSSYSTEME

Accessories

ARCOSYSTEM® Size 1+2

ARCOSYSTEM® 

90° Sigma Post Ø 140 mm 
Item No. VT1011-P002-A018

ARCOSYSTEM® Size 1+2

ARCOSYSTEM® 

90° Sigma Post Ø 210 mm 
Item No. VT11-P002-C101

ARCOSYSTEM® Size 1+2

Pivot Plane Bracket 
ARCOSYSTEM® Size 1
Item No. VT11-P002-E019

Pivot Plane Bracket 
ARCOSYSTEM® Size 2
Item No. VT12-P002-Z018

ARCOSYSTEM® Size 1+2

Security Strap Lid Closer 
ARCOSYSTEM® Size 1
Item No. VT11-P002-1090

Security Strap Lid Closer 
ARCOSYSTEM® Size 2
Item No. VT12-P002-1091



COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED                     FIXING MATERIAL ARCOSYSTEM®                     PAGE 10                     JULY 2022

CASTIONI
KABELFÜHRUNGSSYSTEME

Accessories

ARCOSYSTEM® Size 1+2

GRP-Divider 
ARCOSYSTEM® Size 1+2
112x45x3 mm, 6000 mm
Item No. SH07112456000PGR

ARCOSYSTEM® Size 1+2

Lid Opener 
ARCOSYSTEM® Size 1+2
Item No. VT101-P002-A018 

ARCOSYSTEM® Size 1+2

ARCOSYSTEM® 

Sigma Post 1200 mm
Item No. VT1011-P002-1200
Sigma Post 1500 mm
Item No. VT1011-P002-1500
Sigma Post 1900 mm
Item No. VT1011-P002-1900
Sigma Post 2500 mm
Item No. VT1011-P002-2500
Sigma Post 3000 mm
Item No. VT1011-P002-3000

ARCOSYSTEM® Size 1+2

Stainless Steel Sleeve 
ARCOSYSTEM® Size 1+2
20 x 2.5 mm – 1000 mm
Item No. VT11-P002-A045



COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED                     FIXING MATERIAL ARCOSYSTEM®                     PAGE 11                     JULY 2022

CASTIONI
KABELFÜHRUNGSSYSTEME

Floor Mounted

ARCOSYSTEM® Size 1+2

Floor Fixing

ARCOSYSTEM® SIZE 1
30° – Item No. VT11-P002-E602
45° – Item No. VT11-P002-E603
90° – Item No. VT11-P002-E604

ARCOSYSTEM® SIZE 2 
30° – Item No. VT12-P002-1074
45° – Item No. VT12-P002-1073
90° – Item No. VT12-P002-1071

ARCOSYSTEM® Size 1+2

Floor Fixing Straight

ARCOSYSTEM® SIZE 1
Item No. VT11-P002-E601 

ARCOSYSTEM® SIZE 2
Item No. VT12-P002-1070



COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED                     FIXING MATERIAL ARCOSYSTEM®                     PAGE 12                     JULY 2022

CASTIONI
KABELFÜHRUNGSSYSTEME

OVERVIEW ARCOSYSTEM® SIZE 1

ARCOSYSTEM® Size 1 Item No.

Composite Parts                                                                          Meters

GRP Lid 
Size 1 VT111006000PGD

GRP Trough 
Size 1 VT111006000PGT

GRP Lid and Trough 
Size 1 VT111006000PGK

Elevated Bracketry for Sigma Posts                                              Pieces

Single Plane Swivel 
Size 1 VT11-P002-A005

Straight Connection Plate 
Size 1 VT11-P002-A007

Hinged Swivel Riser 
Size 1 VT11-P002-1050

Out-Hanging Systems 180 mm                                                     Pieces

Single Plane Swivel O/H Post Fixing 
Size 1 (180) VT11-P002-E301

Universal Hinged O/H Post Swivel Fixing 
Size 1 (180) VT11-P002-E305

Slim Single Plane Swivel O/H Post Fixing 
Size 1 (180) VT11-P002-E310

Slim Universal Hinged O/H Post Swivel Fixing 
Size 1 (180) VT11-P002-E311

ARCOSYSTEM® Size 1 Item No.

Wall Fixing Systems 180 mm                                                       Pieces

Single Plane Swivel Wall Bracket 
Size 1 (180) VT11-P002-E501

Universal Hinged Swivel Wall Bracket 
Size 1 (180) VT11-P002-E506

Single Plane Swivel Slim Wall Bracket 
Size 1 (180) VT11-P002-E505

Universal Hinged Swivel Slim Wall Bracket 
Size 1 (180) VT11-P002-E503

Accessories                                                                                 Pieces

Cable Exit 
Size 1 Ø 70 mm VT1011-P002-A019

Two-piece Cable Exit 
Size 1 Ø 70 mm VT11-P002-1081

End Cap 
Size 1 VT11-P002-C025

Security Strap Lid Closer 
Size 1 VT11-P002-1090

GRP-Connector 
Size 2 to Size 1 VT12-P002-1120

Pivot Plane Bracket 
Size 1 VT11-P002-E019



COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED                     FIXING MATERIAL ARCOSYSTEM®                     PAGE 13                     JULY 2022

CASTIONI
KABELFÜHRUNGSSYSTEME

OVERVIEW ARCOSYSTEM® SIZE 2

ARCOSYSTEM® Size 2 Item No.

Wall Fixing Systems 180 mm                                                       Pieces

Single Plane Swivel 
Wall Bracket Size 2 (180) VT12-P002-Z502

Universal Hinged Swivel 
Wall Bracket Size 2 (180) VT12-P002-Z504

Accessories                                                                                 Pieces

Cable Exit Size 2 Ø 115 mm VT1011-P002-A021 

Two-piece Cable Exit Size 2 Ø 115 mm VT12-P002-1080

End Cap Size 2 VT12-P002-C026

Security Strap Lid Closer Size 2 VT12-P002-1091

GRP-Connector 
Size 2 to Size 1 VT12-P002-1120

Pivot Plane Bracket 
Size 2 VT12-P002-Z018

ARCOSYSTEM® Size 2 Item No.

Composite Parts                                                                          Pieces

GRP Lid Size 2 VT1225060000PGD

GRP Trough Size 2 VT122506000PGT

GRP Lid and Trough Size 2 VT122506000PGK

Elevated Bracketry for Sigma Posts                                              Pieces

Single Plane Swivel Size 2 VT12-P002-A006

Straight Connection Plate Size 2 VT12-P002-A008

Hinged Swivel Riser Size 2 VT12-P002-1051

Out-Hanging Systems 180 mm                                                     Pieces

Single Plane Swivel O/H Post 
Fixing Size 2 (180) VT12-P002-Z302

Universal Hinged O/H Post 
Swivel Fixing Size 2 (180) VT12-P002-Z306



COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED                     FIXING MATERIAL ARCOSYSTEM®                     PAGE 14                     JULY 2022

CASTIONI
KABELFÜHRUNGSSYSTEME

OVERVIEW TRANSITION PIECES + FLOOR FIXING

ARCOSYSTEM® Size 1 Pieces Item No.

Transition Piece C.1.7 to ARCOSYSTEM® Size 1 VT11-P002-1099

Transition Piece C.1.8 to ARCOSYSTEM® Size 1 VT11-P002-1102

Transition Piece C.1.9 to ARCOSYSTEM® Size 1 VT11-P002-1103

Transition Piece C.1.10 to ARCOSYSTEM® Size 1 VT11-P002-1097

Transition Piece C.1.29 to ARCOSYSTEM® Size 1 VT11-P002-1098

Transition Piece C.1.43 to ARCOSYSTEM® Size 1 VT11-P002-1101

ARCOSYSTEM® Size 2 Pieces Item No.

Floor Fixing Straight
Size 2 VT12-P002-1070

Floor Fixing  30° 
Size 2 VT12-P002-1074

Floor Fixing  45° 
Size 2 VT12-P002-1073

Floor Fixing  90° 
Size 2 VT12-P002-1071

ARCOSYSTEM® Size 1 Pieces Item No.

Floor Fixing Straight
Size 1 VT11-P002-E601

Floor Fixing  30°
Size 1 VT11-P002-E602

Floor Fixing  45° 
Size 1 VT11-P002-E603

Floor Fixing  90° 
Size 1 VT11-P002-E604

ARCOSYSTEM® Size 2 Pieces Item No.

Transition Piece C.1.7 to ARCOSYSTEM® Size 2 VT12-P002-1104

Transition Piece C.1.8 to ARCOSYSTEM® Size 2 VT12-P002-1105

Transition Piece C.1.9 to ARCOSYSTEM® Size 2 VT12-P002-1106

Transition Piece C.1.10 to ARCOSYSTEM® Size 2 VT12-P002-1095

Transition Piece C.1.29 to ARCOSYSTEM® Size 2 VT12-P002-1096

Transition Piece C.1.43 to ARCOSYSTEM® Size 2 VT12-P002-1100

Schelle Größe 1
Connection plate size 1

vormontiert mit:
2 Stck. Mutter DIN934 M10
2 Stck. Federring DIN127 Gr.10
2 Stck. Scheibe DIN9021 10,5
preassembled with:
2 Pieces Hex nut DIN EN 24032 M10
2 Pieces Split washer DIN127 - A10
2 Pieces Plain washer DIN9021 - 10,5

Betonadapter C1.7  zu ARCOSYSTEM Größe 1
Werkstoff: 1.4301
Transition Piece C1.7  to ARCOSYSTEM Size 1
Material: 1.4301

 230 

 3 

 50 
 80 

 215 
 276 

 80° 

 4
0 

 1
30

  1
70

 

 
9 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

Biegewinkel durch Perforation
veränderbar
Bending angle changeable 
by perforation

steel surface: hot-galvanized 
thickness of 60-80 microns

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 19.07.18
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

1:5

DIN2768-m

1313-0141-00

Art.-Nr.:  VT11-P002-1099

Betonadapter C.1.7 zu ARCOSYSTEM Grösse 1
Transition Piece C.1.7 to ARCOSYSTEM Size 1

Schelle Größe 1
Connection plate size 1

vormontiert mit:
2 Stck. Mutter DIN934 M10
2 Stck. Federring DIN127 Gr.10
2 Stck. Scheibe DIN9021 10,5
preassembled with:
2 Pieces Hex nut DIN EN 24032 M10
2 Pieces Split washer DIN127 - A10
2 Pieces Plain washer DIN9021 - 10,5

Betonadapter C1.7  zu ARCOSYSTEM Größe 1
Werkstoff: 1.4301
Transition Piece C1.7  to ARCOSYSTEM Size 1
Material: 1.4301

 230 

 3 

 50 
 80 

 215 
 276 

 80° 

 4
0 

 1
30

  1
70

 

 
9 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

Biegewinkel durch Perforation
veränderbar
Bending angle changeable 
by perforation

steel surface: hot-galvanized 
thickness of 60-80 microns

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 19.07.18
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

1:5

DIN2768-m

1313-0141-00

Art.-Nr.:  VT11-P002-1099

Betonadapter C.1.7 zu ARCOSYSTEM Grösse 1
Transition Piece C.1.7 to ARCOSYSTEM Size 1

Schelle Größe 1
Connection plate size 1

vormontiert mit:
2 Stck. Mutter DIN934 M10
2 Stck. Federring DIN127 Gr.10
2 Stck. Scheibe DIN9021 10,5
preassembled with:
2 Pieces Hex nut DIN EN 24032 M10
2 Pieces Split washer DIN127 - A10
2 Pieces Plain washer DIN9021 - 10,5

Betonadapter C1.8  zu ARCOSYSTEM Größe 1
Werkstoff: 1.4301
Transition Piece C1.8  to ARCOSYSTEM Size 1
Material: 1.4301

 260 

 3 

 5
0 

 1
90

  2
40

 

 50 

 80 

 215 

 276 

 80° 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

Biegewinkel durch Perforation
veränderbar
Bending angle changeable 
by perforation

steel surface: hot-galvanized 
thickness of 60-80 microns

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 18.02.19
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

1:5

DIN2768-m

1313-0160-00

Art.-Nr.:  

Betonadapter C.1.8 zu ARCOSYSTEM Grösse 1
Transition Piece C.1.8 to ARCOSYSTEM Size 1

Schelle Größe 1
Connection plate size 1

vormontiert mit:
2 Stck. Mutter DIN934 M10
2 Stck. Federring DIN127 Gr.10
2 Stck. Scheibe DIN9021 10,5
preassembled with:
2 Pieces Hex nut DIN EN 24032 M10
2 Pieces Split washer DIN127 - A10
2 Pieces Plain washer DIN9021 - 10,5

Betonadapter C1.8  zu ARCOSYSTEM Größe 1
Werkstoff: 1.4301
Transition Piece C1.8  to ARCOSYSTEM Size 1
Material: 1.4301

 260 

 3 

 5
0 

 1
90

  2
40

 

 50 

 80 

 215 

 276 

 80° 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

Biegewinkel durch Perforation
veränderbar
Bending angle changeable 
by perforation

steel surface: hot-galvanized 
thickness of 60-80 microns

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 18.02.19
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

1:5

DIN2768-m

1313-0160-00

Art.-Nr.:  

Betonadapter C.1.8 zu ARCOSYSTEM Grösse 1
Transition Piece C.1.8 to ARCOSYSTEM Size 1

Schelle Größe 1
Connection plate size 1

vormontiert mit:
2 Stck. Mutter DIN934 M10
2 Stck. Federring DIN127 Gr.10
2 Stck. Scheibe DIN9021 10,5
preassembled with:
2 Pieces Hex nut DIN EN 24032 M10
2 Pieces Split washer DIN127 - A10
2 Pieces Plain washer DIN9021 - 10,5

Betonadapter C1.9  zu ARCOSYSTEM Größe 1
Werkstoff: 1.4301
Transition Piece C1.9  to ARCOSYSTEM Size 1
Material: 1.4301

 290 

 3 

 50 
 80 

 215 
 276 

 80° 

 4
0 

 1
30

  1
70

 

 
9 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

Biegewinkel durch Perforation
veränderbar
Bending angle changeable 
by perforation

steel surface: hot-galvanized 
thickness of 60-80 microns

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 18.02.19
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

1:5

DIN2768-m

1313-0161-00

Art.-Nr.:  VT11-P002-1099

Betonadapter C.1.9 zu ARCOSYSTEM Grösse 1
Transition Piece C.1.9 to ARCOSYSTEM Size 1

Schelle Größe 1
Connection plate size 1

vormontiert mit:
2 Stck. Mutter DIN934 M10
2 Stck. Federring DIN127 Gr.10
2 Stck. Scheibe DIN9021 10,5
preassembled with:
2 Pieces Hex nut DIN EN 24032 M10
2 Pieces Split washer DIN127 - A10
2 Pieces Plain washer DIN9021 - 10,5

Betonadapter C1.9  zu ARCOSYSTEM Größe 1
Werkstoff: 1.4301
Transition Piece C1.9  to ARCOSYSTEM Size 1
Material: 1.4301

 290 

 3 

 50 
 80 

 215 
 276 

 80° 

 4
0 

 1
30

  1
70

 

 
9 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

Biegewinkel durch Perforation
veränderbar
Bending angle changeable 
by perforation

steel surface: hot-galvanized 
thickness of 60-80 microns

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 18.02.19
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

1:5

DIN2768-m

1313-0161-00

Art.-Nr.:  VT11-P002-1099

Betonadapter C.1.9 zu ARCOSYSTEM Grösse 1
Transition Piece C.1.9 to ARCOSYSTEM Size 1

vormontiert mit:
4 Stck. Mutter DIN934 M10
4 Stck. Federring DIN127 Gr.10
4 Stck. Scheibe DIN9021 10,5
preassembled with:
4 Pieces Hex nut DIN EN 24032 M10
4 Pieces Split washer DIN127 - A10
4 Pieces Plain washer DIN9021 - 10,5

Schelle Größe 1
Connection plate size 1

Adapter ARCOEINS - Trog C1.10
Werkstoff: 1.4301
Adapter Size 1 - Trough C1.10
Material: 1.4301

steel surface: hot-galvanized 
thickness of 60-80 microns

 350  80 

 80° 

 50 

 215 

 275,9 

 4
0 

 1
30

  1
70

 

 9 

 3 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

Biegewinkel durch Perforation
veränderbar
Bending angle changeable 
by perforation

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 17.01.18
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

1:5

DIN2768-m

1313-0121-00

Art.-Nr.:  VT11-P002-1097

Betonadapter C.1.10 zu Grösse 1
Transition Piece C.1.10 to Size 1

vormontiert mit:
2 Stck. Mutter DIN934 M10
2 Stck. Federring DIN127 Gr.10
2 Stck. Scheibe DIN9021 10,5
preassembled with:
2 Pieces Hex nut DIN EN 24032 M10
2 Pieces Split washer DIN127 - A10
2 Pieces Plain washer DIN9021 - 10,5

Schelle Größe 1
Connection plate size 1

steel surface: hot-galvanized 
thickness of 60-80 microns

Betonadapter C1.29  zu ARCOSYSTEM Größe 1
Werkstoff: 1.4301
Transition Piece C1.29  to ARCOSYSTEM Size 1
Material: 1.4301

 450 

 80° 

 4
0 

 1
30

  1
70

 

 9 

 50 
 80 

 215 

 276 

 3 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

Biegewinkel durch Perforation
veränderbar
Bending angle changeable 
by perforation

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 17.01.18
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

1:5

DIN2768-m

1313-0122-00

Art.-Nr.:  VT11-P002-1098

Betonadapter C.1.29 zu ARCOSYSTEM Grösse 1
Transition Piece C.1.29 to ARCOSYSTEM Size 1

vormontiert mit:
2 Stck. Mutter DIN934 M10
2 Stck. Federring DIN127 Gr.10
2 Stck. Scheibe DIN9021 10,5
preassembled with:
2 Pieces Hex nut DIN EN 24032 M10
2 Pieces Split washer DIN127 - A10
2 Pieces Plain washer DIN9021 - 10,5

Schelle Größe 1
Connection plate size 1

steel surface: hot-galvanized 
thickness of 60-80 microns

Betonadapter C1.43  zu ARCOSYSTEM Größe 1
Werkstoff: 1.4301
Transition Piece C1.43  to ARCOSYSTEM Size 1
Material: 1.4301

 450 

 80° 

 5
0 

 2
90

 

 3
40

 

 50 
 80 

 215 
 276 

 
9 

 3 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

Biegewinkel durch Perforation
veränderbar
Bending angle changeable 
by perforation

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 18.02.19
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

1:5

DIN2768-m

1313-0162-00

Art.-Nr.:  VT11-P002-1101

Betonadapter C.1.43 zu ARCOSYSTEM Grösse 1
Transition Piece C.1.43 to ARCOSYSTEM Size 1

vormontiert mit:
2 Stck. Mutter DIN934 M10
2 Stck. Federring DIN127 Gr.10
2 Stck. Scheibe DIN9021 10,5
preassembled with:
2 Pieces Hex nut DIN EN 24032 M10
2 Pieces Split washer DIN127 - A10
2 Pieces Plain washer DIN9021 - 10,5

Schelle Größe 2
Connection plate size 2

Betonadapter C1.10  zu ARCOSYSTEM Größe 2
Werkstoff: 1.4301
Transition Piece C1.10  to ARCOSYSTEM Size 2
Material: 1.4301

 350 

 80° 

 9 

 50 
 80 

 215 

 276 

 4
0 

 1
30

  1
70

 

 3 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

Biegewinkel durch Perforation
veränderbar
Bending angle changeable 
by perforation

steel surface: hot-galvanized 
thickness of 60-80 microns

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 17.01.18
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

1:5

DIN2768-m

1313-0092-00

Art.-Nr.:  VT12P002-1095

Betonadapter C.1.10 zu ARCOSYSTEM Grösse 2
Transition Piece C.1.10 to ARCOSYSTEM Size 2

vormontiert mit:
2 Stck. Mutter DIN934 M10
2 Stck. Federring DIN127 Gr.10
2 Stck. Scheibe DIN9021 10,5
preassembled with:
2 Pieces Hex nut DIN EN 24032 M10
2 Pieces Split washer DIN127 - A10
2 Pieces Plain washer DIN9021 - 10,5

Schelle Größe 2
Connection plate size 2

steel surface: hot-galvanized 
thickness of 60-80 microns

Betonadapter C1.29  zu ARCOSYSTEM Größe 2
Werkstoff: 1.4301
Transition Piece C1.29  to ARCOSYSTEM Size 2
Material: 1.4301

 450 

 80° 

 9 

 4
0 

 1
30

  1
70

 

 80 
 50 

 215 
 276 

 3 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

Biegewinkel durch Perforation
veränderbar
Bending angle changeable 
by perforation

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 17.01.18
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

1:5

DIN2768-m

1313-0120-00

Art.-Nr.:  VT12-P002-1096

Betonadapter C.1.29 zu ARCOSYSTEM Grösse 2
Transition Piece C.1.29 to ARCOSYSTEM Size 2

vormontiert mit:
2 Stck. Mutter DIN934 M10
2 Stck. Federring DIN127 Gr.10
2 Stck. Scheibe DIN9021 10,5
preassembled with:
2 Pieces Hex nut DIN EN 24032 M10
2 Pieces Split washer DIN127 - A10
2 Pieces Plain washer DIN9021 - 10,5

Schelle Größe 2
Connection plate size 2

steel surface: hot-galvanized 
thickness of 60-80 microns

Betonadapter C1.43  zu ARCOSYSTEM Größe 2
Werkstoff: 1.4301
Transition Piece C1.43  to ARCOSYSTEM Size 2
Material: 1.4301

 450 

 80° 

 5
0 

 2
90

  3
40

 

 80 
 50 

 215 
 276 

 
9 

 3 

All information included on this drawing is property to 
Castioni Kabelführungssysteme GmbH and is 
furnished for use in operation, repair and 
maintenance of Castioni Kabelführungssysteme 
GmbH  products. Its reproduction for use in any other 
way or for any commercial purpose without prior 
written permissionis forbidden. All rights on this 
material are reserved. This legend shall be marked on 
any reproducton here or in whole or in part.

Biegewinkel durch Perforation
veränderbar
Bending angle changeable 
by perforation

(Werkstoff)

Kd.-Zg.-Nr.

(Toleranz)

NameÄnderungZust. Datum Kunde

Gepr.
Norm

Bearb. 18.02.19
Datum

Hz
Name

Maßstab (Oberfläche)

Blätter

Blatt

1:5

DIN2768-m

1313-0163-00

Art.-Nr.:  VT11-P002-1100

Betonadapter C.1.43 zu ARCOSYSTEM Grösse 2
Transition Piece C.1.43 to ARCOSYSTEM Size 2



COPYRIGHT © CASTIONI KABELFÜHRUNGSSYSTEME GMBH 2022 ALL RIGHTS RESERVED                     FIXING MATERIAL ARCOSYSTEM®                     PAGE 15                     JULY 2022

CASTIONI
KABELFÜHRUNGSSYSTEME

OVERVIEW COMMON ITEMS FOR BOTH SIZES

Common Items for both Sizes Pieces Item No.

90° Sigma Post Ø 140 mm VT1011-P002-A018

90° Sigma Post Ø 210 mm VT11-P002-C101

Lateral Cable Exit Ø 70 mm VT11-P002-1085

Lateral Cable Exit Ø 115 mm VT-11-P002-1086

Lid Opener VT101-P002-A018 

Stainless Steel Sleeve 
20 x 2.5 mm VT11-P002-A045

Sigma Post 1200 mm VT1011-P002-1200

Sigma Post 1500 mm VT1011-P002-1500

Sigma Post 1900 mm VT1011-P002-1900

Sigma Post 2500 mm VT1011-P002-2500

Sigma Post 3000 mm VT1011-P002-3000

GRP-Divider 112x45x3 mm, 
6000 mm

Meters
SH07112456000PGR



Krähenbühl 8
CH - 5642 Mühlau AG
Phone: +41 56 670 2000
info@castioni.de
www.castioni-kabelkanal.com

CASTIONI
KABELFÜHRUNGSSYSTEME

7/22


